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1. A box has 100 blue balls, 50 red balls and 50 black
balls. 25% of blue balls and 50% of red balls are taken
away. Then, percentage of black balls at present is

2,00 Se3riohe 100 Aed oYy, 50 o) Lot
B 50 3F), oMV, 25% e 30Triwd DF) 50%
30 BoNYRY Sridhdeywirddd. So33, WS

83) oY Fesmomach? [SSC CGL 2013]
(a) 25% (b) 33 3 %
(c) 40% (d) 50%

2. The price of rice falls by 20%. How much rice can be
bought now with the money that was sufficient to buy
20kg of rice previously?

€93, 0d e3e3 z’e.zoda’% QRVBNG. 0T 20 3 3,

0eDTeY  TzDI BOTY BN caa-ig! 93,

00eRTVRD?
(a) Skg (b) 15 kg
(c) 25 kg (d) 30 kg

3. Twenty five per cent of Reena's yearly income is
equal to seventy five per cent of Anubhav's monthly
income. If Anubhav's yearly income is X 240000. What
is Reena's monthly income?

Oeve S0 @ode3 BKd WIW IS
e B30 B BLT IBID BST3B,
VRPN, 92T e9DT DoAES e3wa0d X 240000

esﬁdod. Bexo 933 Bons? eswood O),?

(a) T 60000 (b) X 12000
(c) 5200 (d) Cannot be determined
(e) None of these

4. Tulsiram's salary is 20% more than that of Kashyap.
If Tulsiram saves X 720 which is 4% of his salary, then
Kashyap's salary' is

DYI0R 0BT FoeSN 33&° ©BO0N0S Be.200w),
Bed). DYITISF &S Fowdd 4% ©oBT X 720

VRLDTT, 82550—-0“ 03T ToWY OR)?

[SSC CPO 2009]
(a) X 15000 (b) X 12000
(c) X 100000 (d) X 22000

5.1n a city, 40% of the people are illiterate and 60% are
poor. Among the rich, 10% are illiterate. The
percentage of the illiterate poor population is

Snody  Fedldam) 2D OIZXID DI
2e.600x), wBd3D.  3eho3d) Fe. 100w,
OIZOID. USZCY WA BSV030hO Te AR !

[SSC CGL 2016]
(a) 36
(c) 40

(b) 60
(d) 50

6. Fresh fruits contains 72% water and dry fruit
contains 20% water. How much dry fruit (in kg) can be
obtained from 160 kg of fresh fruit?

S BEPNWD 72% DR) e B 20% e
QDBT. 160 3B T BeINOTW W), e BEPIHY,
(BR0DY) SBEALBDD?

(a) 52 kg
(c) 50 kg

(b) 56 kg
(d) 60 kg

7. Due to the increment of 25% in the price of rice, a
manis able to buy 5 kg less for X 600. Find the new price
of rice.

08,00 TOBY Fe.250R) ©OBWRADITOT 22
DD, X 6003, 5 323 38 OB TG THET.

93,00 BRI 25&)’01)3.3( B0RHBNO.
(a) X 40 perkg (b) X 30 per kg B
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(c) X 25 per kg (d) X35 per kg

8. An increase of 20% in the price of mangoes enables
a person to purchase 4 mangoes less for X 40. The price
of 15 mangoes before increment was

ITBEIR BOBY Fe.200R), B ¥ dééoifaz%d)
g 4036 4 AT ab’sgmd 3R I 00eDTew

G TrH3T. HOBr B, 15 FRAT Beds B aR)?

(a) 10 (b) X 15
(c)X20 (d)% 25

9. When the price of sugar decreases by 10%, a man
could buy 1kg more for X 270. Then, the original price
of sugar per kg is

R8,00d 36 Fe. 100wy, SBeHImIN, ), DRV, T
2708, 138 Tedy, aBDIVBTD. 6 B3 383 I3,T0d

Swew S o ? (SSC CGL 2011)
(a)X25 (b)X 30
(c)x27 (d)%32

10. A reduction of 20% in the price of an apple enables
a man to buy 10 apples more for X 54. The reduced
price of apples per dozen is

TS IJabd 20% 3BSD 54 3, 10 Jewnivs

®ed) 00DV DIFAT VDY IeB3RRDST.
33 Bud’ TS U ox), 3B ANT?

[SSC CGL 2011]
(a) X 4.32 (b) X 12.96
(c) X 10.80 (d) X 14.40

11. Areduction of 20% in the price of sugar enables me
to purchase 5 kg more for X 600. The price of sugar per
kg before reduction of price is

<3,8ab ISodhQ 20% T, BRISF) X 600 3, 5 LoD,
), 20e0Tw IIN DY eBBRRDIE. IS
Q930D Seue) I3 3L I3,Bod IS aa),?

(a) X 24 (b)X 30

(c) 32 (d) %36

12. Out of 2500 people, only 60% have the saving habit.
If 30% save with bank, 32% with post office and the rest
with shares, the number of shareholders are

2500 »TVY Te.600m), ol ed) LYW
eﬂmém’ad. 30% méos‘d@m, 32% TPE’, BDETFSY
D) VTP ReDRYY VLIBT3, Wehwed3 ﬁoa%

oR),? [SSC CPO 2011]
(a) 450 (b) 570
(c) 950 (d) 1250

13. Three groups of 40, 50 and 60 students appeared
for an examination and the percentage of passed
student was 100, 90 and 80 respectively. The passed
percentage of the whole groupiis

40, 50. 8> 60 JoBFrY B rHoBNW BOFri
HoRONGY | DA GVSeFTB | ATYRDENY
FeBEomoDd) B)eeadd) FheseN 100, 90 ) 80 N33

28e NHOBIY ev3eerved e aw)?  [SSCCGL 2013]
2 2

(a) 88 5 (b) 845
1 1

(c) 885 (d) 84 E

14. A boy who was asked to find 3 %2 % of a sum of
money misread the question and found 5 % & of it.
His answer was X 220. What 5 % of 2 would have been

the correct answer?

B3T3 % % U= BDRDBY FV0NE BDANR
BBWR, 3TN LOBD DA ©E0Y 5 % &
80RER0B. ©FT EUBS X 220. 2 BO 5% FOWRT

V3T reHw? (SSC CPO 2009)
(a) 2120 (b) X 140
(c)x160 (d) 150
Pa
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15. In a factory, 60% of the workers are above 30 yr and
of these 75% are males and the rest are females. If
there are 1350 male workers above 30 yr, then the
total number of workers in the factory is

S0, 60% FcHESD) 30 TRES,08 eV, E3BD
DR B 75% /DHID DR LVPTID SdFoDD. 30

Jx€ e €3 1350 QDA SoE3053,
S00e 30D WED), FaWEST 5035as oR),?
(SSC CGL 2011)
(a) 3000 (b) 2000
(c) 1800 (d) 1500

16. The salary of a man increases by 20% every year in
the month of January. His salary was X 5000 in the
month of February in year 2009 What will be hisisalary
in the month of February in'year 20117?

B3 33F BIBO SNV BDVRF BowTD) 20%
Oa), Berd3d. 20098 B0 SoriPRY BFT Fow
% 5000 &R 2011 89 F[O FonvO [T Fowv

oOR)?

[PNB Clerk 20110]
(a) X 7200 (b) X 6200 (c) X 7800
(d) X 6800 (e) None of these

17. A cloth merchant has announced 25% rebate in
prices. If one needs to have a rebate of X 40, then how
many metres of cloth costing X 32 per m he should
purchase?

2.)&.31 mzsméoirae%ds 25&5’01)@ 25% Soimd'béoi)dg(
eeARWYT. 2:2) 0t X40 Dareadd Jerdies0dd, B8
e’ X 32 3dad oF), et zof.zobdg(

0eDTIe)?
(a) 6

[SSC CGL 2016]
(b) 5

(c) 10 (d)7

18. Priya got 9 marks more in History than what she got
in Geography. Her History marks are 56% of the sum of
her History and Geography marks. What are her
Geography marks?

Q0o T aifar{fae%}mgdém 3BT wozneNo3

VEHIIBY 9 WOoINYRY, BBODYT. BIY VSHIT
WOBNW OTY TR DB Werieedd ©osnY
Se33 56% 6NG. 0¥ Berieedd rHDBDRW

o)) ? [SSC CGL 2017]
(a) 42 (b) 65
(c) 53 (d) 33

19. In a school, there are 250 students and out of them,
12% are girls. Each girl's monthly fee is X450 and each
boy's monthly fee is 24% more than that of a girl. What
is the total monthly fee of girls and boys together?

200 '&)o"oi)eg, 250 cf)méame?dg, vITY  12%
DBDNODD. B3 BN SFyedS e, T450 D) )3
DANS A3 DO, DNN0S  24%  @Ted),.
DDNDLD DF) BDRNT WD, A3 D), OR)?

[I0B PO 2011]
(b) X 136260
(d) X 132460

(a) X 136620
(c) X 132660
(e) None of these

Pa
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20. Out of the total number of students in a the college,
12% are interested in sports. 3/4 of the total number
of students are interested in dancing. 10% of the total
number of students are interested in singing and the
remaining 15 students are not interested in any of the
activities. What is the total number of students in the
college?

SRR W), IDYRENY B33 T€.120@), ITYRENW
Sedab) ©I3 BPoDHYT. wed), 3/4 YR
BB 8T TODWYT. wed), ITYRENY T3
Fe.100&), JT RN ToRDMedZobhY) TS Te0DT),
QUPB 15 DB e WewSe3Bobd B3
BPOVY. FoIRIODE wtd), AWYBFNY o0&, O ?

[BOI Clerk 2010]
(b) 500
(d) Cannot be determined

(a) 450
(c) 600
(e) None of the above

21. Tirupati sells calculator to Ashoka. Ashoka, offered
him a sum of money for which he refused as being 13%
below the value of the calculator. Ashoka, then offered
him X 45 more and the second offer was 5% more than
the estimated value. The value of the calculator is

ADBS RSN azswécfewo‘ DTN, RRES,
R0 BT d@éd@( QeRTD, ©TZ)N  OTD
Syenfe3t’ S JPYB 08  13% BBD 0w
A0eB0TD. Zees, I0383 &30 X 45 ed), D)
QBB Bpmriody ©omew &PU3,08 5% B39NG.
59,00, 53T S dR),?

(a) X450 (b) T 255
(c)X 250 (d) 500

22. Nandita scored 80% marks in five subjects together
viz.,, Hindi, Science, Maths, English and Sanskrit
together, whereas the maximum marks of each subject
were 105. How many marks did Nandita score in
Science, if she scored 89 marks in Hindi, 92 marks in
Sanskrit, 98 marks in Maths and 81 marks in English ?

Solze ID LoD, eI, Nes3, oNT DI
éo@ud Q0 O IRADNRYY 2edrt 80% o3RYIY
90T, 883 F3 I=LE 10gx wosnw 105.
SodzTy WBD oADMY 89 WoBNYRY, ﬁoﬁéq)édé’)m
92 03Ny, N&SE8dY 98 ©oznw DB VNSO
81 ©03RY NPIFT, AZoIBY AR, VOBV,

ROAEIS? [IBPS Clerk 2011]
(a) 60 (b) 75
(c) 65 (d) 70

(e) None of these

23. Twelve per cent of Kaushal's monthly salary is equal
to 'sixteen per cent of Nandini's monthly salary.
Suresh's monthly salary is half that of Nandini's
monthly salary. If Suresh's annual salary is X 1.08 lakh,
what is Kaushal's monthly salary?

B Son¥ Fowvd BITR 33387 JoLID
B TBoYE BOD B)333B, IeRHNG.
D3Be 3T oy Bowy JodAD dony Vowdd
UPFER), VT O[T DA Je3I X 1.08

OZTINGT, BB ©FT Bory Fowy Om)?

(a) X 20000 (b) X 18000
(c) X 26000 (d) X 24000
(e) None of these

Pa
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24. The cost of an apple is twice that of a banana and
the cost of a banana is 25% less than that of a guava. If
the cost of each type of fruit increases by 10%, then the
percentage increase in the cost of 4 bananas, 2 apples
and 3 guavas is

VDT BT we¥BedNod 0D Jew), Ted), DR
WovEeds S Jedwd o8 25% 3BSaND. T&
wriah @IS eI Te.100R), BeIBT, 4 WDy, 2

Jeew D) 3 Seduny LSSodbe Fe. [SSC CGL 2011]

(a) 10% (b) 12%
(c) 16% (d) 18%

25. Dinesh's monthly income is four times Suresh's
monthly income. Suresh's monthly income is twenty
per cent more than Jyoti's monthly income. Jyoti's
monthly income is X 22000. What is Dinesh's monthly
income?

DIeF 33 Son¥ Bwedd WDBeF I3 SonY
BOONE Do), PEY, WTETI | DS  Bread
Bedad Sed3 Bweahd 08 TeEE VBB Td),.
Bed 0BT Son¥ wwead X 22000. BIe VST

3BonY eswaad cba-’%?

(a) X 106500
(c) X 104500
(e) None of these

(b) X 105600
(d) X 105400

26. Sunaina works in a private firm and her annual
income is X 3 lakh. She owns two vehicles, one old and
one new. 5% of her expenses goes towards
maintenance of her new vehicle, while the cost of
maintaining her old vehicle is 2% more than the new
one. On an average, how much does she spend on a

monthly basis in maintaining the two vehicles?

DT ;00 RN ﬁo«o"@&b@m 3OT DR, w3ab
DIAFE BT X 3 VF. VDD ATAD DIBINYRY,
BR0DTYT, 2,00 BYD DR 00D BAT. BIY 3T
5% 3 BT DB ASEBEHN BRLMDIT, BTT 9TY
BT DOTBIBY, NBELHDT YD BeI33,08 2%
®d). ToeT0AIAN, TR DIDBINYRY,  ASEOD
V3P FodS B8E0a e o), wdE S ?

[RRB Group D 2018]
(b) X 1250
(d) 2 2500

(a) X 3000
(c) X 2000

27. A man's average monthly expenditure for the first
four months of the year was X 231.25. For the next five
months, the average monthly expenditure was X 22.75
more than what it was during the first four months. If
the person spent X 605 in all during the remaining
three months of the year, then find what percentage of
his annual income of X 3500 did he save in the year?

SREB SRTO Torw, oNWNYY 2wy S3ah Foesd
703 5, X 231.25 8N, SodT D oYY,

AVEINTS 3YI A TCIA) Do),
Sonrvdd3,038 X 22.75 @BINT. ) S30w
SREA LLPT Jwed SonYY X 605 webr TBTT,
VDD S, DoAES BWoOLT X 3500 TR, OR), SRFTO
PURITD?

VOO

Pa
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(a) 10% (b) 15%
(c) 20% (d) 25%
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